
����������	
�������

��� �����	�
�� ��	�
��� ��
 �����	����

�� ������	
���
��	
� �
���
 
���

�������� �		
 ��
� � ����

������ ������	
����� 
� ��� �
����� �
��� �
� ��	�

�
����
�� �
 �	������� ���	��
�� �� �
����� ��
��������

�������������� ����� 1

���������	 
��� 
������� ����

1 ����������� �	����
� ��� 
	����	��� 
	������ 
	� ����������

�����	������� ��

����� �����	

��� �	�

!"����# ��
��$����"%����	&��

��� ����

�
���
 ����

'��� ����������	 
��
��� ���		��������� �()��* �(+((* �(,-�&

��� ����	 ��� ����	�	� ��.����/� �0
����	�* 	��
��� �	������� ��	�����	�* 1���	�2 �����* ������

�	�����%�����&

brought to you by COREView metadata, citation and similar papers at core.ac.uk

provided by Publications Server of the Weierstrass Institute for Applied Analysis and Stochastics

https://core.ac.uk/display/289298336?utm_source=pdf&utm_medium=banner&utm_campaign=pdf-decoration-v1


����
� ��
�
�
������� 
����	� !"� #
�
$�
��
 #
������ 	
� %��������& '� #%(
)���

�����
 *+
����� �
���

,
���
�

��-. / 0+ *� ��00+�1
��)���. 2�
2��
�3$�����
���
��

����� ���
 �
�. ���2.44$$$�$�����
���
��
4



��������

�� �������� ��� ���������� ������� ������ �� � ������ ����� ���� ��������
����������  �� ��!����� "����������� ����! ���� "�������� ������# �� ���� ��
��$� ���� ������� ��� ������� �����%��� ���������� %�� ��� ���������!����� ������
�� "������ ��� ���� �% ��"������� ����� ����� �� ��� "���� ��� ��������� �% ���$
��������� �� ��� ������� ������ ���� ���� ��� &�����' %���� (�) �� ����!����� �� �
"���� ���!�� ���� *+,�  ��� "��"���� �� ��"������ %�� ��� �������!����� �% "�������
�� ��!�����������������# ���� ���� ���������� �""��������� ���� �� ������� !������

� ����
�����
�

5�
 2	�2��
 �! ���� 
��
 �� �� !���	���
 ���
 ��
�
6	

�
� �! �
�

� �
�	������ �
�	���
���� ��
 �
�
��
� !�� ��
 ����
������� ��
��� �! )�-$
��7� 
6	����
�� )��
 �2
��8�����9
$
 $�
� �� ���$ ��$ ��
 ��
��� �! ��
 2�2
�� :;�
��<9 :�=%��< ��
 �
�2 	� �� �
�� $���
��
 ��>�	���
� ���� ����
 !��� ��	2��
� ��
 $
�& !���	�����
 �! )�-$
��7� ����
� �� ��


6	����
 �! ���

�	� ����
�
 �
 ���2�
- �
��
���
��

 
 ���� �
����	����
9 $
 8��� �
�����
 ��
 ��2
 �! �
��
������ �
���
� ���� $
 ���
 �

��
��

�
 ��
���
� 8
��
�� ��
� ��	
�
� �����
� Ω̃0 , . . . , Ω̃m ⊂ R
39 ���� �
2�
�

� ���?��
�

���
����� $��� ��@
�

� 
�
�������

��� 2��2
���
�9 �
� $
 �
8

 � �����
 Ω̃ ⊂ R
3 ��

Ω̃ =
m⋃

i=0

Ω̃i . '�(

�
 ���	�
 ���� ��
 �
� Ω̃ �� ��


��
��  
����	��
� �
 �
�
- �
� Ic ⊆ {0, . . . , m} ��

i ∈ Ic ⇐⇒ Ω̃i �� 
�
��������� ��
�	���
�9 '�(

$
 ��
 ����
� ��
 
�
������� ��
�	����� �
 � �����
 Ω̃c ���

 ��

Ω̃c =
⋃
i∈Ic

Ω̃i .

�
 �

��
 �� Ω̃c0 ⊂ Ω̃c � 2��� �! ��
 ��
�	����� $�
�
 $
 ��
 �	��

� �� 2�
�����
��
5���	���	� ��
 2�2
�9 $
 ��
���
� �
�� ��
 ���2�
�� ���
 ���� ��
 �
� Ω̃c0 �� ������
�
!��� ��
 �
�� �! ��
 ��
�	������ �
 �

��
 �� Ωc := Ω̃c \ Ω̃c0 ��
 2��� �! ��
 ��
�	�����
$�
�
 ��
 �	��

� �� 	
&
�$
�

�



 
 ��
 �����
 Ω̃9 $
 ��
���
� ��
 ������
��� )�-$
��7� 
6	����
�� #�2A�
7� ��$

curlH = j , �
 Ω̃ , '*(

�
� B��7� ��$ !�� ��
 
�
������� ��
�	�����

j = σ (E + v × B) , �
 Ω̃c , '0(

��
 �
 $����

 �
 ��
 ����� !���

curlH =

⎧⎪⎨
⎪⎩

0 �
 Ω̃ \ Ω̃c ,

j0 �
 Ω̃c0 ,

σ (E + v × B) �
 Ωc ,

'1(

$�
�
 j0 �� � ���

 �

���� �! ���
�� �	��

�9 �
� ��
 !	
����
 σ �
2�
�

�� ��
 
�
�������
��
�	������� �! ��
 �
��	�� �	���
�9 ��
 ���

��� �
�	����
 B �����8
�

divB = 0 , �
 Ω̃ . 'C(

��� ��
 
�
����� 8
�� E9 �� ����� ����

curlE = 0 , �
 Ω̃ . '�(

 
 ��
 
�
���
�	���
� 2����9 ��
 ���2���
�

� �	��

� D ��� �� �����!�

divD = 0 , �
 Ω̃ \ Ω̃c . 'D(

�
 ����� 


� � ��
����	���
 �
�����
 �
�$


 B �
�H 9 �
� �
�$


 E �
�D� �
 ��
���
�
�
�� ��

�� ���
�����9 ���� ��

B = μH , D = eE , '+(

$��� ��
 !	
����
 μ �! ���

��� 2
��
������� �
� ��
 !	
����
 e �! 
�
������� 2
�����������
 
 ��
 �
�
���� �! Ω̃9 ��
 8
��� B, H, E ���
 �� �����!� ��
 ������� �����	�
� 
��������
[

H × �n
]
i,j

= 0 ,
[
B · �n

]
i,j

= 0 ,
[
E × �n

]
i,j

= 0 �
 ∂Ω̃i ∩ ∂Ω̃j '��(

$�
�

[
·
]
i,j

�

��
� ��
 ?	�2 �! � 6	�
���� ������ ��
 �	�!��
 ∂Ω̃i∩∂Ω̃j !�� i, j = 0, . . . , m�

�
 ��
���
� ���� ��
 �	�
� ��	
���� ∂Ω̃ ���
�� � ���

��� ���
��9 �
� 2�
�����
 ��

��
�����
�

B · �n = 0 , E × �n = 0 �
 ∂Ω̃ . '��(

��������� �	�	 �
 �

��
 ��
 2����
� �! 8
��
� 8
��� H, B, E, D, j ���� �����!� '1(9
'C(9 '�(9 'D( ���
��
� $��� ��
 ��
����	���
 �
�����
� '+( �
� ��
 ��	
���� ��
�����
� '��(
�
� '��( �� E����
� (P )�

�




�� �
����� �� ��� �����
������� �� ��� ��
�� j× B	 ��� ���

 �	��

� ��	��
 j0
�
� �
������ 8
�� v9 ��
 2����
� (P ) ��� �


 �	��
��!	��� ����
� �
 ��
 2���9 ���� !��
���
 �


��� �
��
������ �
���
�� ���
 '�( �
� !�� 
�
��

�� ��
����	���
 �
�����
� '+( '�



� �� :E)++<(� 5��� $�� ���
�� ����
�
� ���
&� �� ��
 ��
��� �! ����������� curl �
� div
�2
������9 �
� ��
 	�
 �! �
���2������
 ��
��
�� �! ��
 �2��
 L2 �
���
� �
 ���� ��
����

��� ��
 8
�� H ���� $
�&�� ����
� ��
 2����
� (P )9 ��
 �


����F
� ��
��� �! 
�
��������


���� ���
� ��
 !����$�
� ����� �
!�������
� '�

 !�� 
-��2�
 :GH�C<9 :E)++< �� :����0<(.

H ∈ Vμ,0(Ω̃) :=
{
ψ ∈ [L2(Ω̃)]3

∣∣∣ curlψ ∈ [L2(Ω̃)]3, div(μψ) = 0, μ ψ · �n = 0 �
 ∂Ω̃
}
,

'��(

$�
�
 ��
 �2
������ curl9 div9 �
� ��
 
����� ����
 ψ · �n ��
 �
�

�
� �
 ��
 �


����F
�
�

�
�

I�$
�
�9 !�� ��
 ��	�� �! ��
 ��	2�
� 2����
� �
�����
� !�� 
-��2�
 ��
 ����
��%��&
�

6	����
�9 ��
 	�
 �! �	�� $
�& ���	���
� ��
 �
�� �� ��
���
����
 ��>�	���
�� #��	�

!�� 
-��2�
 ���� � �	��
� �! ��
 �
�����
� ����
�9 ��� Ω̃1 ⊂ Ωc9 ��
����� �! � ������
�
����
������ �
��
� 8��
� $��� �
 
�
��������� ��
�	���
� J	��� ��


�
� � ���
�� �	��

�
�� �22��
� �
 ��
 ��
�	����� Ω̃c0 9 �� $��� �


���
 � ��
��� ����
 ���

��� 8
�� �
 ��



���
 �
���
 Ω̃9 �
� �
J	

�
 ��
 J	�� �����
� 5��� ��2
 �! �
�
������
 �� �
�����
� ��
��
 ������
��� )IG ����
�� 5�
 ����
��%��&
� 
6	����
� !�� �
 �
���2�
�����
 J	�� ��

��

 $����

 �� !����$�.

ρ (v · ∇)v = ∇p+ η	v + j × B , div v = 0 , �
 Ω̃1 , '�*(

$�
�
 ρ �� ��
 ���� �

���� �! ��
 J	��9 η ��� &�

������� ���������9 �
� j×B �

��
� ��


�
�������

��� !���
 'H��

�F !���
(� %�
�
 $
 ���	�
 ���� #�2A�
7� ��$ '*( �
� ��

��

�� �
�����
 '+( ��
 �����9 $
 ��
 $���
 !�� ��
 
�
�������

��� !���
 �
 '�*( ����

j × B = curlH × μH .

5�
�
!��
9 �! �	� &
�$�
��
 ���	� ��
 �
�	������ �! H �� �����
� �� '��(9 $
 ��

�� 
-2
��
�
 �


��� ���
 ���
 j ×B ∈ [L1(Ω̃)]3�

��������� ��� ��
����
� �� ��� ����
	 # ����� �
����
 �! ���� 2�2
�� ���	� ����


���������
����� �� ���� ��
 ��>�	���
� �
�����
� �
 ��
 2�
���	� 2������2� ��
 �

�����
� �� ��&�
� �	�����
 ���	�2���
� �
 ��
 �
�	������ �! ��
 !	
����
 μ9 �
� �
 ��

���	��	�
 �! ��
 �����
 Ω̃� �
 ���
J� �
�����
 ��
 ���
 ��
��� # ��
� ����9 �22��
� 
� ��
�
 :GH��<9 :%5D*<9 ��
����� �
 �	22���
� ���� μ �� � �������� 
����� !	
����
 �
 ��
 �����

Ω̃� ���� '��( �� ��

 !����$� ����

divH =
−∇μ
μ

·H ∈ L2(Ω̃) .

��


�
� ��
 !	
����
 μ �� ��	
�
� �$�� !��� F
��9 � �
���� 8
�� H ���� �����8
� '��(
��

 �
��
�� �� ��
 �2��


V :=
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∣∣∣ curlψ ∈ [L2(Ω̃)]3, divψ ∈ L2(Ω̃), ψ · �n = 0 �
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(U) :=
{
ψ ∈ [Lp(U)]3

∣∣∣ curlψ ∈ [Lp(U)]3
}
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ψ ∈ [Lp(U)]3

∣∣∣ divψ ∈ Lp(U)
}
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divψ · φ =

∫
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ψ · �n φ =:
〈
γn(ψ), φ
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Wp,α(U) :=
{
u ∈ Lp

����
(U) ∩ Lp
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(U)

∣∣∣ γn(u) ∈ Lα(∂U)
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3 p
3−p

�! 1 ≤ p < 3 ,

1 ≤ s <∞ ��������� �! p = 3 ,

∞ �! p > 3 .
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� Ũ ⊂ R
3 �
 � ��	
�
� �����


�	�� ���� U ⊂⊂ Ũ �
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f · �n φ .
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 Ũ \ U .

 � �� ��

 
��� �� �
��!� ���� ���� 
-�

���
 ��� ��
 �
6	��
� 2��2
���
��

����	 �	 �����
����� ���� �
 ��
���
� �
 ��������� u ∈ Wp,α(U)�

G
8

 f := curl u� %�
�
 div f = 0 ������ 
�
��$�
�
 �
 U 9 $
 �

 ���
����
�� ����
f ∈ Lp

���
(U) !�� ��� 1 ≤ p ≤ ∞� �
 
�$ �����
 ���
 p �
 ��
 ��
�
 ]q′1, q1[9 $�
�
 q1

�� ���

 �� H
��� ��*9 �
� $
 8- ���
 �������� ��	
�
� �����
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‖f̃‖[Lp(Ũ)]3 ≤ c ‖f‖[Lp(U)]3 . '��(
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curlA = f̃ �
 Ũ , ‖A‖[W 1,p
0 (Ũ)]3 ≤ c̄ ‖f̃‖[Lp(Ũ)]3 ,
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���
� c̄ ���� �
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�
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F (φ) :=

∫
U

g φ+

∫
∂U

(A− u) · �n φ .
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 ���� F (1) = 0� B
 ��
 ���
� ��
�9∣∣∣F (φ)
∣∣∣ ≤ ‖g‖Lp(U) ‖φ‖Lp′(U) + ‖A · �n‖

L
2 p
3−p (∂U)

‖φ‖
L

2 p′
3 (∂U)

+ ‖u · �n‖Lα(∂U) ‖φ‖Lα′(∂U) .
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2 q

3 − q
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2 p′
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W 1,q(U) ↪→ Lα′
(∂U), W 1,q(U) ↪→ L

2 p′
3 (∂U) .
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W 1,q(U) ↪→ Lp′(U) �� ��
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	�	�� ���� '�0(9 $
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�	�
 ����∣∣∣F (φ)
∣∣∣ ≤ c (‖g‖Lp(U) + ‖A‖[W 1,p(U)]3 + ‖u · �n‖Lα(∂U)) ‖φ‖W 1,q(U) .
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‖r‖W 1,q′(U) ≤ c ‖F‖[W 1,q(U)]∗ ≤ C (‖ div u‖Lp(U) + ‖ curl u‖[Lp(U)]3 + ‖u · �n‖Lα(∂U)) ,
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‖u‖[Lξ(U)]3 ≤ c (‖A‖[Lp∗(U)]3 + ‖∇r‖[Lq′(U)]3)

≤ C̄ (‖ div u‖Lp(U) + ‖ curlu‖[Lp(U)]3 + ‖u · �n‖Lα(∂U)) .
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3 α
2
, p∗, q1
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� (P )� ���� 
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 ���� ��
 �����
 Ω̃ �� ���2�� ��
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� �
� ��� �
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����� G

���
� �� μ ��
 ���

��� 2
��
������� �
 Ω̃9 $
 ���	�
 ����	��
��
 �
���
�
� �! ��
 2�2
� ���� μ �� � �
��	����
 !	
����
 �	�� ����

0 < μl ≤ μ(x) ≤ μu <∞ !�� ��� x ∈ Ω̃ , '�C(

$��� 2������
 ��
���
�� μl , μu�
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�

Vμ(Ω̃) :=
{
ψ ∈ [L2(Ω̃)]3

∣∣∣ curlψ ∈ [L2(Ω̃)]3, div(μψ) ∈ L2(Ω̃), γn(μψ) = 0 �
 ∂Ω̃
}
,

'��(

Vμ,0(Ω̃) :=
{
ψ ∈ Vμ(Ω̃)

∣∣∣ div(μψ) = 0
}

'�D(
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��$ Vμ(Ω̃) $��� ��
 
��� �! ��
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‖ψ‖Vμ(Ω̃) := ‖ψ‖[L2(Ω̃)]3 + ‖ curlψ‖[L2(Ω̃)]3 + ‖ div(μψ)‖L2(Ω̃) .
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� ��
 ��2����
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 �! �������
�� ��2���
�
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 ��

2��� (μ, Ω̃) !�� 
��
���
� �
�	��� ��
�
�
�
� �2��
 �! ��
 ��2
 �! Vμ(Ω̃)�  
 ���� �
�2
��9

�
 ��2����
� ����� �! �����
� ��
����� �! ��
 �����
� Ω̃ =
⋃m

i=0 Ω̃i ����
� ��
 !����$�
�
2��2
���.

(A0) ��� 0 ≤ i, j ≤ m, i �= j, ��
 ��	
���� ∂Ω̃i ∩ ∂Ω̃j �� � ����
�9 ��


��
� �	�!��
�
'�+(

��� ��
 2��� (μ, Ω̃) $
 $�
� �� ����	�� ��
 !����$�
� ���
�.

(A1)

⎧⎨
⎩
μ|Ω̃i

∈ C1
(
Ω̃i

)
!�� i = 0, . . . , m,

∂Ω̃i, ∂Ω̃ ∈ C2 !�� i = 0, . . . , m.
(A2)

⎧⎪⎪⎪⎨
⎪⎪⎪⎩
μ|Ω̃i

∈ C
(
Ω̃i

)
!�� i = 0, . . . , m,

∂Ω̃i \ ∂Ω̃ ∈ C1 !�� i = 0, . . . , m,

∂Ω̃ ∈ C0,1 .

5�
 ���
 �
�	�� �! ���� �
����
 �� �
 
��
���
� �
�	�� !�� ��
 �2��
 Vμ(Ω̃)�  
 ���
� ��
���2�
�
 ��� 2���!9 $
 8��� 


� �$� �	-������ ����
�

��� ��� � �
�� 
	��
� q ∈]1,∞[9
$
 �
���� ���� q′ �

��
� ��
 ��
?	���
� 
-2�


� �� q�

����� �	�	 H
� Ω̃ �
 � ���2�� ��


��
� H�2�����F �����
� H
� ψ ∈ [L2(Ω̃)]3 �
 ���

9
�
� ���	�
 ���� p ∈W 1,2(Ω̃) �����8
� ��
 �
�
���� �
�����
∫

Ω̃

μ∇p · ∇φ =

∫
Ω̃

μψ · ∇φ , '*�(

!�� ��� φ ∈ W 1,2(Ω̃)�

��



'�(  ! ��
 2��� (μ, Ω̃) �����8
� (A0) �
� (A1)9 �
� �! ψ ∈ [W 1,2(Ω̃)]39 ��

 !�� i = 0, . . . , m9
�

 ���

p ∈W 2,2(Ω̃i), ‖p‖W 2,2(Ω̃i)
≤ c ‖ψ‖[W 1,2(Ω̃)]3 .

'�( %	22��
 ���� (μ, Ω̃) �����8
� (A0) �
� (A2)� 5�

 ��
�
 
-���� ���
 q1 > 3 �	�� ����
�! ψ ∈ [Lq(Ω̃)]3 !�� � q ∈]q′1, q1[9 ��



p ∈W 1,q(Ω̃), ‖p‖W 1,q(Ω̃) ≤ c̄ ‖ψ‖[Lq(Ω̃)]3 .

 ! ∂Ω̃ ∈ C19 ��

 �

 ��� ��&
 q1 = +∞�

'*(  ! ��
 
	��
� 1 − μl/μu �� �	>��

��� �����9 ��

 ��
 ���
 �� �
 '�( �� ����� $����	�
!	���
� ���	�2���
 �
 ��
 !	
����
 μ �
� �
 ��
 �����
 Ω̃�

����	� 5�
 ���
����
 '�( $�� 2���
� �
 ��
 2�2
� :H%C�<9 H
��� ��

'�(. B����	���9 ��
 !	
����
��

F (ζ) :=

∫
Ω̃

μψ · ∇ζ ,

�� � $
����
8

� 
�
�

� �! [W 1,q′(Ω̃)]∗� K
�
� �	� �
��
������ ���	�2���
 �
 ��
 �����

Ω̃9 ��
 �
���& *��C �
 :�=%��< ���$� ���� ��
 �2
�����

∇ · (μ∇) : W 1,q(Ω̃) −→ [W 1,q′(Ω̃)]∗ ,

�� � ��2�������� ������2����� 5��� 2���
� ��
 ������

'*(.  
 ��
$ �! H
��� 0�� '�

 ��
 �22

��-(9 ��
�
 
-���� � ��
���
� C �	�� ���� �! ��


�����

�� ���	�2���
 C
(
1 − μl

μu

)
< 1 �� �����8
�9 ��
 ���
����
 !����$��

�
 ����� 


� �
���
� �	-������ �
�	�� ��
�
�
�
� ��
 2���������� �� 8
� �
���� 2��

�����
�
 ��
 �2��
 Vμ,0�

����� �	�	 �
 ��
���
� � ���2�� ��


��
� H�2�����F �����
 Ω̃� H
� j ∈ L2
div(Ω̃) �


�	�� ���� div j = 0 �
 Ω̃ �
 ��
 �


����F
� �

�
� 5�

 $
 ��
 8
� � �
���� 2��

����
B ∈ Vμ,0(Ω̃) �	�� ����

curlB = j , ‖B‖Vμ(Ω̃) ≤ c ‖j‖[L2(Ω̃)]3 . '*�(

 
 �������
9 ��
 !����$�
� �
�	��� ��
 �����.

'�(  ! (A0) �
� (A1) ��
 �����8
�9 ��

 !�� i = 0, . . . , m $
 ���


B ∈ [W 1,2(Ω̃i)]
3 , ‖B‖[W 1,2(Ω̃i)]3

≤ c ‖j‖[L2(Ω̃)]3 .

��



'�(  ! (A0) �
� (A2) ��
 �����8
�9 �� �! ��
 
	��
� 1 − μl/μu �� �	>��

��� �����9 ��


��
�
 
-���� ���
 ξ̃ > 3 �	�� ����

B ∈ [Lξ̃(Ω̃)]3 , ‖B‖[Lξ̃(Ω̃)]3 ≤ c ‖j‖[L2(Ω̃)]3 .

 ! ∂Ω̃ ∈ C19 ��

 $
 ��
 �����
 ξ̃ = 6�

����	� �� H
���  �*�C �
 :,=DC<9 $
 8
� � 2��

���� A �
 ��
 �2��
 L2
����

(Ω̃) ∩ L2
���

(Ω̃)
�	�� ����

divA = 0 , curlA = j , �
 Ω̃ ,

γn(A) = 0 �
 ∂Ω̃ . '*�(

 
 �������
9 ��
�
 
-���� � 2������
 ��
���
� C �
�
2

�

� �! j �	�� ����

‖A‖[L2(Ω̃)]3 ≤ C ‖j‖[L2(Ω̃)]3 .

�
 ��
���
� ��
 '	2 �� ��
���
��( 	
�6	
 !	
����
 p ∈W 1,2(Ω̃) ���� �����8
�∫
Ω̃

μ∇p · ∇φ =

∫
Ω̃

μA · ∇φ

!�� ��� φ ∈ W 1,2(Ω̃)9 �
� $
 �
� B := A − ∇p� �
 �
��!� 
����� ���� B ∈ Vμ,0(Ω̃)9 �
�
���� curl B = j�

'�(.  ! (A0) �
� (A1) ��
 �����8
�9 ��

 5�
��
�  �*�D �
 :,=DC< 
�

 ���
� ���� ��

2��

���� A �
 '*�( �
��
�� �� [W 1,2(Ω̃)]39 �
� ����

‖A‖[W 1,2(Ω̃)]3 ≤ c̄ ‖j‖[L2(Ω̃)]3 .

5�

9 H
��� ��0 ��2��
� ���� p ∈W 2,2(Ω̃i) !�� i = 0, . . . , m9 �
� ����

‖p‖W 2,2(Ω̃i)
≤ C ‖A‖[W 1,2(Ω̃)]3 ≤ C̄ ‖j‖[L2(Ω̃)]3 .

5�	�9 B �
��
�� �� [W 1,2(Ω̃i)]
3 �
� �����8
� ��
 ���
����
�

'�(.  ! ∂Ω̃ ∈ C0,19 $
 �

 ���� A ∈ W2,∞(Ω̃) '�� 2� '��((� E��2������
 ��� ��

 ��2��
� ��


-���

�
 �! � 
	��
� ξ > 3 �	�� ����

‖A‖[Lξ(Ω̃)]3 ≤ c̄ ‖j‖[L2(Ω̃)]3 .

 ! ∂Ω̃ ∈ C19 ��
 �����
 ξ = 6 �� 2������
� K
�
� ��
 ��2���
��� �! ��
 2�
�

� �
���9 ��
!����$� !��� H
��� ��0 ���� ��
�
 
-���� ���
 ξ̃ ∈]3, ξ] �	�� ���� p ∈ W 1,ξ̃(Ω̃)9 �
� ����

‖p‖W 1,ξ̃(Ω̃) ≤ C ‖A‖[Lξ(Ω̃)]3 ≤ Ĉ ‖j‖[L2(Ω̃)]3 .

5�
�
!��
9 B = A+∇p �
��
�� �� [Lξ̃(Ω̃)]3 �
� �����8
� ��
 ���
����
� #���
9 �! ∂Ω̃ ∈ C19
�

 ��
 2���
 ���� ��
 �����
 ξ̃ = 6 �� 2������
�

��



�
��������� �	 	 H
� Ω̃ �
 � ���2�� ��


��
� H�2�����F �����
 �

'�(  ! (μ, Ω̃) �����!� (A0) �
� (A1)9 ��

 ��
 ��2�������� ��

����

Vμ(Ω̃) = Vμ(Ω̃) ∩
m⋂

i=0

[W 1,2(Ω̃i)]
3

�� ������

'�(  ! ��
 2��� (μ, Ω̃) �����8
� (A0) �
� (A2)9 ��

 ��
�
 
-���� � 
	��
� ξ̃ > 3 �	��

���� Vμ(Ω̃) ↪→ [Lξ̃(Ω̃)]3 $��� ��
��
	�	� 
��
���
��  ! ∂Ω̃ ∈ C19 ��

 �

 ��
 �����

ξ̃ = 6�

'*(  ! ��
 
	��
� 1−μl/μu �� �	>��

��� �����9 ��

 ��
 ���
 �� �
 '�( �� �����9 $����	�
!	���
� ���	�2���
 �
 ��
 !	
����
 μ �
� �
 ��
 �����
 Ω̃�

����	� �
 ��
���
� �
 ��������� ψ ∈ Vμ(Ω̃)� %�
�
 curl ψ �� ���
��

�
�!�

 ������ 
�
���
$�
�
 �
 Ω̃9 $
 8
� �� H
��� ��1 � B ∈ Vμ,0(Ω̃) �	�� ����

curlB = curlψ �
 Ω̃ .

%�
�
 Ω̃ �� ���2�� ��


��
�9 $
 ��
��	�
 !��� ��
 !��� ���� curl (ψ − B) = 0 ����

ψ = B + ∇p , '**(

!�� ���
 p ∈W 1,2(Ω̃)� 5�
 !	
����
 p �� � $
�& ���	���
 �� ��
 ���
�������
 2����
�

∫
Ω̃

μ∇p · ∇φ = −
∫

Ω̃

div(μψ)φ+
m∑

i=0

∫
∂Ω̃i

[
μψ · �n

]
φ ,

!�� ��� φ ∈ W 1,2(Ω̃)� '�(. %	22��
 ���� (A0) �
� (A1) ��
 �����8
�� 5�

 �� �� ���$
 �

:H%C�<9 H
��� �9 ���� p ∈W 2,2(Ω̃i) !�� i = 0, . . . , m9 �
� ����

‖p‖W 2,2(Ω̃i)
≤ c ‖ div(μψ)‖L2(Ω̃) .

%�
�
 �� H
��� ��19 $
 &
�$ ���� B ∈ [W 1,2(Ω̃i)]
3 !�� i = 0, . . . , m9 $
 �����
 !��� '**(

��
 
��� 
������


‖ψ‖[W 1,2(Ω̃i)]3
≤ ‖p‖W 2,2(Ω̃i)

+ ‖B‖[W 1,2(Ω̃i)]3
≤ c (‖ div(μψ)‖L2(Ω̃) + ‖ curlψ‖[L2(Ω̃)]3) .

'�(.  ! (A0) �
� (A2) ��
 �����8
�9 �
�2� �! ��
 
	��
� 1 − μl/μu �� �	>��

��� �����9 $

��
 	�
 ��
 ���	�

�� �! :�=%��<9 �
�2� �! ��
 �22

��-9 �� �����
 ��
 
-���

�
 �! ���


ξ̃ > 3 �	�� ���� p ∈W 1,ξ̃(Ω̃)�  
 �������
9 $
 8
� ��
 
��� 
������


‖p‖W 1,ξ̃(Ω̃) ≤ c ‖ div(μψ)‖L2(Ω̃) .

K��
� H
��� ��1 �
� '**(9 ��
 ����� !����$��

�*



��
����9 $
 �
����	�
 !	
����
�� �2��
� ���� $��� �
�2 	� �� �
�� $��� ��
 ��
�����
� �

curl H �
 (P )�

�
 �
����	�
 ��
 �2��


H(Ω̃) :=
{
H ∈ L2

����
(Ω̃)

∣∣∣ curlH = 0 �
 Ω̃ \ Ω̃c

}
.

���	�����9 H(Ω̃) �� � I���
�� �2��
 $��� �
�2
�� �� ��
 ��2����� �! L2
����

(Ω̃)� �
 ���� 


�
��
 �2��
 �! �����

�F
� 8
���

H0(Ω̃) :=
{
H ∈ L2

����
(Ω̃)

∣∣∣ curlH = 0 �
 Ω̃ \ Ωc

}
.

 
 ���
� �� �����!� ��
 ���
��

�
 ��
�����
�9 $
 �
����	�
 ��
 �2��


Hμ(Ω̃) :=
{
ψ ∈ H(Ω̃)

∣∣∣ div(μψ) = 0 �
 Ω̃ , μ ψ · �n = 0 �
 ∂Ω̃
}
,

�
�

H0
μ(Ω̃) :=

{
ψ ∈ H0(Ω̃)

∣∣∣ div(μψ) = 0 �
 Ω̃ , μ ψ · �n = 0 �
 ∂Ω̃
}
.

���	�����9 ��
 �2��
 Hμ(Ω̃) �� � ����
� �	��2��
 �! Vμ(Ω̃)�

����� �	!	 H
� ��
 ���	�2���
 '�C( �
 ��
 !	
����
 μ �
 �����8
�� 5�

 $
 ���
.

'�( 5�
 
��
���
� Hμ(Ω̃) ↪→ [L2(Ω̃)]3 �� ���2����

'�( 5�
�
 
-���� � ��
���
� C > 0 �	�� ���� !�� ��� ψ ∈ Hμ(Ω̃)9∫
Ω̃

| curlψ|2 ≥ C ‖ψ‖2
Vμ(Ω̃)

.

����	� '�(. 5��� �� �
�� � �2
���� ���
 �! ���
 �


��� �
�	��� '�

 :E)++<(�

'�(.  
 ��
$ �! '�(9 $
 	�
 ��
 	�	�� ��
���������
 ���	�

� �� 2���
 ��
 
-���

�
 �! �
��
���
� c > 0 �	�� ���� !�� ��� ψ ∈ Hμ(Ω̃)9 ‖ψ‖2

[L2(Ω̃)]3
≤ c

∫
Ω̃
| curlψ|2�

$ %
����
� 
� (P )�

��� ��������� �� 
 ��
� ���������

�
 8��� ��&
 2�
���
 ��
 ���	�2���
� �
 ��
 ��
>��

�� �
� ���� 	
�
� $���� $
 �
�

�
�� ����
 (P )�

��� i = 0, . . . , m9 $
 �

��
 �� σi ��
 
�
������� ��
�	������� �! ��
 �
��	� Ω̃i� �

���	�
 ���� σi �� � H
�
��	
 �
��	����
 !	
����
� �
 �������
���� ���	�
 ���� ��
�


-��� 2������
 ��
���
�� σl , σu �	�� ���� !�� i ∈ Ic9

0 < σl ≤ σi(x) ≤ σu <∞ !�� ������ ��� x ∈ Ω̃i . '*0(

�0



�
 �
���� ���� '�C( �� ���	�
� �� ����� ��� 
������
�� ���������9 $
 �
����	�
 ��

�	-������ !	
����
 r : Ω̃ → R �
8

� ��

r :=

{
1
σ

�
 Ω̃c ,

1 
��
$�
�
�
'*1(

%�
�
 ���
��
� ��
 �	��

� ��	��
 �� 
�� �	� ���
 ��
�
�
9 $
 �	22��
 ���� ��
 �	��

�
�� ��2��
� �
 ��
 ��
�	���� Ω̃c0 �
� ���� ��
 ���

 �	��

� �

���� j0 �����8
�

div j0 = 0 �
 Ω̃c0 , j0 · �n = 0 �
 ∂Ωc0 , '*C(

$���� 

�	�
� ��
 ��
�
������
 �! �����
� %�
�
 $
 $�
� �� ����$ !�� ��
 �����
 �! ���

�! ��
 ��
�	�����9 $
 �	22��
 ���� � �
������ �
���� v : Ωc −→ R

3 �� ���

� �
 �

��

�� v̄ ��
 
-�

���
 �� F
�� �! v �� Ω̃�  
 ���
� �� �
���
 � ��������
�� !���	�����
 �! (P )9
$
 ����� !��� 
6	����
 '1(.

curlH = σ (E + v × B) �
 Ωc .

��� �
 ��������� ψ ∈ H0(Ω̃)9 $
 ��

 �
�	�
 ����∫
Ωc

1

σ
curlH · curlψ =

∫
Ωc

E · curlψ +

∫
Ωc

(v ×B) · curlψ .

%�
�
 ψ ∈ H0(Ω̃)9 $
 ���
 �
 ��
$ �! '�( �
� �! '��( ����∫
Ωc

E · curlψ =

∫
Ω̃

E · curlψ =

∫
Ω̃

curlE · ψ +

∫
∂Ω̃

(E × ψ) · �n = 0 .

5�
�
!��
9 $
 ��
 $���
 !�� ��� ψ ∈ H0(Ω̃) ��
 �
�
���� ��

����∫
Ω̃

r curlH · curlψ =

∫
Ω̃

(v̄ ×B) · curlψ , '*�(

$���� �� �
 2�����	��� ��	
 !�� ��� ψ ∈ H0
μ(Ω̃)�

��������� �	�	 #��	�
 ���� ��
 ��
�����
� '*0(9 '�C( �
� '*C( �
 σ, μ �
� j0 ��

�����8
�� �
 ���� � �
���� 8
��H ∈ Hμ(Ω̃) � ���� 
������� �� ��
 2����
� (P ) �! curl H =
j0 ������ 
�
��$�
�
 �
 ��
 �
� Ω̃c0 9 �
� �! ��
 �
�����
∫

Ω̃

(r curlH − v̄ × μH) · curlψ = 0 '*D(

�� �����8
� !�� ��� ψ ∈ H0
μ(Ω̃)�

"���
# �	�	 �
 ���
J� ���$ �
 $���� �

�
 G
8
����
 *�� ����
� �
 
6	����

� !���	���
���
 �! ��
 2����
� (P )� #��	�
 ���� H ∈ Hμ(Ω̃) �����8
� '*D( !�� ��� ψ ∈ H0

μ(Ω̃)� 5�

9
��
 �
�
���� �
�����
 ∫

Ω̃

(r curlH − v̄ × μH) · curlψ = 0 , '*+(

�1



�� 
�

 �����8
� !�� ψ ∈ H0(Ω̃)� '#� � ����
� �! !���9 �� 
�
�� ψ ∈ H0(Ω̃)9 $
 ��
 8
� �
!	
����
 p ∈ W 1,2(Ω̃) �	�� ���� ψ −∇p �
��
�� �� Hμ(Ω̃)�(  
 2�����	���9 $
 ��
 �����

ψ ∈ [C∞

c (Ωc)]
39 �
� �����
∫

Ωc

(r curlH − v × μH) · curlψ = 0 .

5��� �
�
� 
����
� 
��
 �	�

curl (r curlH − v × μH) = 0 �
 ��
 �

�
 �! ��
 �


����F
� �	�� �2
����� �
 Ωc.

G
8

 ��
 
�
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�� �
 Ωc ��

EΩc := r curlH − v × μH �
 Ωc .
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�
����� 8
�� EΩ̃c0
�����8
� EΩ̃c0

=

j0/σ� 5�	�9 ��
 
�
����� 8
��

Ec :=

{
EΩc �
 Ωc ,

EΩ̃c0
�
 Ω̃c0 ,
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�$
 �
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�
������� ��
�	����� �! ��
 ����
�� 5�
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�
����� 8
�� �
 Ω̃ \ Ω̃c ��
�
�
���

� �� ��
 ���	���
 �! ��
 2����
�

curlE = 0, divD = 0 �
 Ω̃ \ Ω̃c

E × �n = Ec × �n �
 ∂Ω̃ \ Ω̃c , E × �n = 0 �
 ∂Ω̃ .
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� Ω̃ ∈ C0,1 �
 � ���2�� ��
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� �����
� H
� j0 ∈ [L2(Ω̃c0)]
3 �����!�

'*C(9 �
� σ �����!� '*0(9 �
� �
� v ∈ [L∞(Ωc)]
3� #��	�
 ���� μ �����8
� '�C(�

5�

9 ��
 2����
� (P ) 2���
��
� �� �
��� �

 $
�& ���	���
 H �  
 �������
9 $
 ���
.

'�(  ! (μ, Ω̃) �����8
� (A0) �
� (A1)9 ��

 curl H × B ∈ [L3/2(Ω̃)]3�

'�(  ! (μ, Ω̃) �����8
� (A0) �
� (A2) 9 ��

 curl H ×B ∈ [Lr(Ω̃)]3 !�� ���
 r > 6/5�

'*(  ! ��
 
	��
� 1 − μl/μu �� �	>��

��� �����9 ��

 ��
 �
�	�� '�( ����� ��	
 $����	�
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� ���	�2���
� �
 (μ, Ω̃)�
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� � 8
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curlH0 = j0 �
 Ω̃ .
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 j0 ∈ [L2(Ω̃c0)]
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� ��
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 �! H0 !����$� !��� H
���
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 ��

 �
!���	���
 (P ) �� 2����
� !�� ��
 ���
���� ���� H̃ = H − H0�  ! H �� �
$
�& ���	���
 �! (P )9 ��

 H̃ ∈ H0

μ(Ω̃)9 �
� ��
 �
�
���� �
�����
∫
Ω̃

r curl H̃ · curlψ −
∫

Ω̃

(v̄ × μ H̃) · curlψ

= −
∫

Ω̃

r curlH0 · curlψ +

∫
Ω̃

(v̄ × μH0) · curlψ '0�(

�� �����8
� !�� ��� ψ ∈ H0
μ(Ω̃)� K��
� M�	
�7� �

6	�����9 $
 8
� ����∣∣∣∣

∫
Ω̃

(
v̄ × μ H̃

)
· curl H̃

∣∣∣∣ ≤ 1

2 σu

∫
Ω̃

| curl H̃|2 + 2μ2
1 σu‖v‖2

[L∞(Ωc)]3 ‖H̃‖2
[L2(Ω̃)]3

,

!�� ��� H̃ ∈ H0
μ(Ω̃)� 5�	�9∫

Ω̃

r | curl H̃|2 −
∫

Ω̃

(
v̄ × μ H̃

)
· curl H̃

≥ 1

2 σu

∫
Ω̃

| curl H̃|2 − 2μ2
1 σu ‖v‖2

[L∞(Ωc)]3
‖H̃‖2

[L2(Ω̃)]3

%�
�
 �������
� �� H
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�� ������ !����$ !��� ��
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H
� U ⊂ R
3 �
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� H�2�����F �����
� H
� 1 < q < ∞ �
� g ∈ [Lq(U)]3
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 ���� ��
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����
 μ : U → R �� �
��	����
 �
� �����8
� '�� 2� '�C((

0 < μl ≤ μ(x) ≤ μu <∞ !�� ��� x ∈ U . '0�(

�
 ��
���
� ��
 2����
� �! 8
��
� p ∈W 1,q(U) ���� �����8
� ��
 �
�
���� �
�����
∫
U

μ∇p · ∇φ =

∫
U

g · ∇φ , '0�(

!�� ��� φ ∈ W 1,q′(U)�

��
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 U �� H�2�����F��
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 q1 > 3 �	�� ���� !��
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 ��
 8
� � 2������
 ��
���
� C = C(U, q)9 �� ���� �! �
 �������
 ��
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C

(
1 − μl

μu

)
< 1 '0*(

�� �����8
�9 ��

 ��
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� '0�( 2���
��
� � '	2 �� ��
���
��( 	
�6	
 ���	���
 p ∈
W 1,q(U)9 �
� ��
 
������
(

1 − C

(
1 − μl

μu

))
‖∇p‖[Lq(U)]3 ≤ ‖g‖[Lq(U)]3

�� ������

����	�  
 ��
$ �! E��2������
 0�1 �
��$9 ��
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-���� ���
 q1 > 3 �	�� ���� !�� ��� q ∈
]q′1, q1[ �
� u ∈ [Lq(U)]39 ��
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 ζ ∈W 1,q(U) �	�� ����∫

U

∇ζ · ∇φ =

∫
U

u · ∇φ ,

!�� ��� φ ∈ W 1,q′(U)�  
 �������
9 ��
 ���	���
 ζ �����8
� � ��
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‖∇ζ‖[Lq(U)]3 ≤ C ‖u‖[Lq(U)]3 .

��� w ∈W 1,q(U) ���������9 $
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 ��	� 8
� � 	
�6	
 ζ ∈W 1,q(U) �	�� ����∫
U

∇ζ · ∇φ =

∫
U

(
1 − μ

μu

)
∇w · ∇φ+

∫
U

1

μu
g · ∇φ , '00(

!�� ��� φ ∈ W 1,q′(U)�  
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9 �
 ��
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‖∇ζ‖W 1,q(U) ≤ C

(
1 − μl

μu

)
‖∇w‖[Lq(U)]3 +

1

μu

C ‖g‖[Lq(U)]3 . '01(
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 �� � ��
��� �2��
 $��� �
�2
�� �� ��
 
���
‖u‖W 1,q
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 �
8

 � ��22�
� T : W 1,q
M (U) → W 1,q

M (U) �� �
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T (w) := ζ 9 $�
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‖T (w1) − T (w2)‖W 1,q
M (U) ≤ C sup

‖∇φ‖
[Lq′ (U)]3≤1

∣∣∣∣
∫

U

(
1 − μ

μu

)
∇(w1 − w2) · ∇φ

∣∣∣∣
≤ C

(
1 − μl

μu

)
‖w1 − w2‖W 1,q
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D(U) :=
{
φ ∈ [C∞

c (U)]3
∣∣∣ div φ = 0 �
 U

}
.

��� 1 < q <∞9 $
 �
����	�
 ����
� �	��2��
� Hq(U), Gq(U) �! [Lq(U)]3 �
8
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Hq(U) := ����	�
 �! D(U) �
 ��
 
��� ‖ · ‖[Lq(U)]3 ,

Gq(U) :=
{
φ ∈ [Lq(U)]3

∣∣∣φ = ∇ζ, ζ ∈W 1,q(U)
}
.
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[Lq(U)]3 = Hq(U) ⊕Gq(U) , '0�(
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 [Lq(U)]39 ��
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 ��
 ���$ ���� !�� ��� p ∈W 1,q(U)

‖∇p‖[Lq(U)]3 ≤ ‖PGq‖L([Lq(U)]3, [Lq(U)]3) sup
‖∇φ‖

[Lq′ (U)]3
≤1

∣∣∣∣
∫

U

∇p · ∇φ
∣∣∣∣ .
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�	�� ���� ∫

U
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